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18. #F @ A #F & %1% & 7 (exploratory factor analysis) 1 2 %% 1+ %)% » 47 (confirmatory
factor analysis) » Tt #H B ¢ - (20 4 )
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(A) 0.1536
(B) 0.4096
(C) 0.5904
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13. The Wechsler Memory Scale - R (WMS-R) contains several subtests designed to

assess different aspects of short-term memory including evaluating mental control
abilities; therefore, which category can WMS-R be classified as follows?

(A) Interests assessments

(B) Personality assessments

(C) Neurological assessments

(D) Attitude assessments

(E) Adaptive assessment



14. The following questionnaire items are claimed to be written by a typical scale
design. What is a major category that the scale is more likely to be?
1. Do you agree the government should permit smoking cigarettes in public
spaces?
2. Do you agree the government should permit smoking cigarettes in restaurants?
3. Do you agree the government should permit smoking cigarettes in fronts of
children?
4. Would you permit your child to marry a smoker?

5. Would you permit your child to smoke?

(A) Likert scale
(B) Thurstone scale
(C) Guttman scale
(D) Welchsler scale

(E) Gardner scale

15. What is the testing area that Raven's progressive matrices test is more likely and
appropriately to be applied?
(A) Intelligence Abilities
(B) Abstract Reasoning
(C) Verbal Skills
(D) Subject Attitudes
(E) Reading Comprehension

16. Which of the following survey is NOT comparing participants between countries
because of its sampling design?
(A) TIMSS
(B) PIRLS
(C) PISA
(D) TEDS-M
(E) TEPS



17. Which of the following property is the most likely to be related to reliabilities in
assessment evaluations?
(A) Consistency
(B) Durability
(C) Difficulty
(D) Authenticity
(E) Validity
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1. @ ¥ 4% =3~ (dichotomous) =7 IRT #55% » & 7 i 258 o (15 4 )

2. w3} £ R 38 a0 (differential item functioning) ? (7 4 )

FERI-AF T RRRLERESA N D E > TPHEE RE (15 4)



Bzt ? my <54 S FERFTFALITRA J 3

PR F s FAL

@wgﬁ:ﬁ?ﬂ%&??i%

§ - A D EHEM(F I 25% 0 £ 35%)

1. T A HTML401 258 ¢ » G R ETRT A RS ZFORFI P 2 F AR
?

&

<table>

<caption>Em sa an st da</caption>

<colgroup id=" Em sa an">

<col span="2" width="300" align="left" valign="top">
<col span="1" width="100" align="right" valign="bottom">
</colgroup>

<thead>

<tr>

<th>eee</th><th>sss</th><th>ddd</th>

</tr>

</thead>

<tfoot>

<tr><td colspan="3">Compiled by Betty D. Boss</td></tr>
</tfoot>

<tbody>

<tr>

<td>Wilma</td><td>50,000</td><td>April 6</td>
</tr>

<tr>...more data cells...</tr>

<tr>...more data cells...</tr>

</tbody>

</table>
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(B) =1
(C) +~
(D) =7
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<table>

<caption>Employee salaries and start dates</caption>
<colgroup id=" employeeinfo">

<col span="2" width="300">

<col span="1" width="100" class="date">
</colgroup>

<thead>

<tr>

<th>Employee</th><th>Salary</th><th>Start date</th>
</tr>

</thead>

<tfoot>

<tr><td colspan="3">Compiled by Betty D. Boss</td></tr>
</tfoot>

<tbody>

<tr>

<td>Wilma</td><td>50,000</td><td>April 6</td>
</tr>

<tr>...more data cells...</tr>

<tr>...more data cells...</tr>

</tbody>

</table>

(A) 700
(B) 400
(C) 300
(D) 100

TR ARG ?
(A) WIinRAR

(B) Filezilla

(C) WwinZip

(D) PowerArchiver




TAF R engig At Y 0 PP Bk § chcodec 9
(A) Windows media player

(B) Media player classic

(C) Real player

(D) KMPlayer
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<table>

<caption>Em sa an st da</caption>

<colgroup id=" Em sa an">

<col span="2" width="300" align="left" valign="top">
<col span="1" width="100" align="right" valign="bottom">
</colgroup>

<thead>

<tr>

<th>eee</th><th>sss</th><th>ddd</th>

</tr>

</thead>

<tfoot>

<tr><td colspan="3">Compiled by Betty D. Boss</td></tr>
</tfoot>

<tbody>

<tr>

<td>Wilma</td><td>50,000</td><td>April 6</td>
</tr>

<tr>...more data cells...</tr>

<tr>...more data cells...</tr>

</tbody>

</table>
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(A) 350
(B) ¥4t 50
(C) 2 E#E#
(D) m&eap
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R C & CHP T (A>B) ?2FL(X) 1 F2(Y), 4 # A
(A) 4% A<B > B3 7 F2(Y) : 4% ASB > BI#4 {7 F1(X) ©
(B) 4% A<B > Bl#4 {7 FI(X) 5 4c% A>SB » Bl# 17 F2(Y) -
(C) 4% A<B: RI# 7 FLI(Y) 5 4% ASB » RI# 7 F2(X) o
(D) 4% A=B > B3 7 F2(Y) ; 4% A<B s Bl# {7 F1(X) ©

&7 7] HTML4.01, HTML5 {= XHTML 1.0 425% ¢ » &R 7 7 i % &2 3
(Lists) s B¢ ?

(A) ol

(B) i

(C) dd

(D) th

FF TS HTMLS 250 enie* 5 9

<video src="movies/nantucket.ogv" width="640" height="480"
poster="bay.jpg" type="video/ogg; codecs="theora,

vorbis"'>

This browser does not support the <code>video</code>
element.

</video>

(A)
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13.

&7 7] HTML4.01, HTML5 v XHTML 1.0 25% ¢ - 5B T 57 X 22 % F %
WA
(A) abbr
(B) title
(C) html
(D) meta

T 7] HTML4.01, HTML5 f XHTMLLO #£5 ¢ » 50 T 7lfm % 212 5
BEEasAan?

(A) dfn

(B)p

(C) div

(D) tfoot

& 7] HTML4.01, HTML5 fr XHTML 1.0 23 ¢ > 3K = 51 i % 82 4 42 &
[ e

(A) td

(B) th

(C) a

(D) tr

<video src="movies/nantucket.ogv" width="640" height="480"
poster ="bay.jpg" type="video/ogg; codecs="theora, vorbis"'>
This browser does not support the <code>video</code>
element.

</video>

(A) ogv
(B) ogg
(C) theora
(D) poster
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<table width="70%" cellpadding="10">
<tr>
<td>100</td><td>200</td>
</tr>

<tr>
<td>100</td><td>400</td>
</tr>

<tr>
<td>200</td><td>400</td>
</tr>

</table>

(A) 4
(B) 3
(C) 2
(D)1

$ oA L EEA(F M 24% > £ 24%)

15. TR AT AL SR gD (FirstIn, First Out) #id (£ & ?
(A) =7 (queue)
(B) 34 (heap)
(C) sadfp (stack)
(D) #t (tree)

16. = 5w L3 ¥ & EB /T (Shortest Path) i B iz ?
(A) fL s 2782 (Dijkstra’s Algoritm)
(B) & B#rfix (Kruskal’s Algorithm)
(C) % +ki% (Sollin’s Algorithm)
(D) # +x;# (Prim’s Algorithm )



17. FHEY > 5 - BFER AT E - BaisgiE (Primarykey ) HFF 1487 7
E T IR E S D
(A) %E 4@ (Candidate key )
(B) 4g=4x® (Superkey)
(C) % = & (Secondary key )
(D) ¢k2ngtiE (Foreign key )

18. #--ig|#cF 25.375 4k A - e plHF 5 P 2
(A) 11010.001
(B) 11001.011
(C) 11001.101
(D) 11001.111

19. B4R ALAERS F Pose il (SRAM) 28 i "E 5 5 P-se it (DRAM) st
oo TR E g Fx 9
(A) SRAM ¥ if & 557 ¢ R& anfF g 7o
(B) SRAM 73 B3 B #i2 p
(C) DRAM #1% erfa 48 2
(D) DRAM & 4| #* 7 e 1 B 3 F‘X'}J‘

*;r

20. ferEagERsY o Mgl LA n(B)4e @ wwwontcu.edutw) i £ H E g [P
Address s i+ 8_?
(A) HTTP
(B) Router
(C) DNS
(D) ARP

21. T r[7R- fatfei: (scheduling algorithm) i % € i = p < 23 (context
switch ) e=x #iciie 5 ?
(A) #1742 (round-robin scheduling)
(B) 42 (priority scheduling)
(C) A 3|H A IRIx (first-come - first served )
(D) =2 i’riﬂz 2 (shortest-job-first )
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22. TG B FRL fi&méw y o X F' i Fx 9
(A) Queue = * i:wﬁﬂ IN lv"’%l 9y I B 1 ]
(B) Queue ¥ * kg E 25 4 2 L{Em A
(C) t Stack ¥ 4% » chs (45 5 Push @ #(% s (74 5 Pop
(D) B-Tree ¥ - i & * KB 2ibF 2 FHREH

23. THIMAY R NP kg i o e AR
(A) &% 7 en P ip F e %
(B) # % ¥V renIP impd Bvp e &
(C) @& & v enIP fhh § S F P 0 % 6
(D) 7 if & * K ZE 2k ik

FORESQLERZ Y 4ok s diery F4 Hyp s 5 "M > SQL 45 4 & select
* from students where name X’ %’ » R| T 511:}% £ Xenp > Z %% FRiR
MaEF

(A) AS

(B) NEAR

(C) SIMILAR

(D) LIKE

=4 R E (% 41%)

Logsmiegd T2 sk ) 2352~ R 0mp - (15%)

2. FEP TIHENT IO s TR - WP ART RIRETE L D
* o (16%)

3. Abinary tree has a height of 6. The maximum number of nodesis . (5%)

4. If there are 128 nodes to be stored in a binary tree, the minimum height of the tree

is . (5%)
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